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Further hypothesis tests 6C
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b 3.36
¢ 3.37
1
2 a —=0.241
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3 a 3.37
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¢ 6.06
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4 a ——=0.0370
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1
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12,8
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12,5
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5 a 3.07, =0.299
10,8
1
b 291, =0.364
10,12

¢ 54110111
Fss

6 P(X <0.5)=P(F,,, <0.5)

1
=P| F >—
( 12,40 05)

=P(Fjy40>2)
From the tables Fj, 4,(0.05) =2
S P(Fly 40 >2) = P(Fy 1, <0.5)=0.05
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7 P(X <3.28)=1-P(F,; >3.28)
=1-0.05=0.95

P X<L =P Flzg<LJ
2.85 285

= P(Fy,, >2.85)

P(X < LJ =0.05
2.85

P L<X<3.28 =P(X <3.28)-P X<L
2.85 2.85

=0.95-0.05
=0.90

8 P(X <9.55)=1-P(F,; >9.55)
=1-0.01
=0.99

9 a P(X<3.00)=1-P(F,, >3.00)
=1-0.05=0.95

1
P(X>025=P| F,, >——
( ) [12,6 0_25}

=P(F,6>4)
=0.05

P(0.25 < X <3)=0.95-0.05
=0.90

b °C,(0.9)%(0.1)*x0.9=0.00109
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